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I. PHONETICS (1 p) 

Choose one word whose underlined part is pronounced differently 

1. A. certificate B. decorate C. undergraduate D. doctorate 

2. A. tutor B. master C. tuition D. university 

Choose one word whose stress pattern is different from others 

3. A. climate B. extinct C. famine D. capture 

4. A. internship B. profession C. doctorate D. practical 

II. VOCABULARY AND GRAMMAR (4p) 

Choose the best answer to complete the following sentences (1.5p) 

1. All of the disasters resulted from _________ will continue to have a devastating effect on 

socio-economic development. 

A. floods 

B. climate change 

C. ecological balance 

D. carbon footprint 
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2. We admired the Japanese _______ the city of Fukushima after the disaster. 

A. to rebuild 

B. of having rebuilt 

C. to being rebuilt 

D. for having rebuilt 

3. The UK offers a wide range of worked-based training for students seeking to build 

careers _____ specific industries. 

A. at 

B. on 

C. into 

D. in 

4. The UK is a ____ multicultural society with a wonderful mix of people from many 

different backgrounds. 

A. truthfully 

B. true 

C. truth 

D. truly 

5. IB students can select subjects so that they specialize in a particular academic field, but 

mathematics, native language and theory of knowledge are __________subjects. 



 
A. optional 

B. elective 

C. compulsory 

D. certain 

6. Many kinds of plants and animals are _______ of extinction. 

A. on the verge of 

B. on the risk of 

C. at danger of 

D. in the verge of 

Give the correct form of the words in the brackets (1p) 

1. A (doctor)______________degree is the highest university degree. 

2. Having treated the environment (responsible)________________, humans now have to 

suffer the effects of global warming. 

3. Humans cannot live without species (diverse)_________________on Earth. 

4. If you want to pursue higher education abroad, you should improve your English and 

(broad) ______________ your knowledge about culture. 

Give the correct tenses and forms of the verbs in the brackets (1.5pt) 

1. (Be)____________ his own boss for such a long time, he found it hard to accept orders 

from another. 



 
2. Last year I worked abroad. I appreciate (give)_____________the opportunity to live and 

work in a foreign country. 

3. Sorry, I'm late. How long______you (wait)__________________for me? 

4. Tom was accused of (reveal)______________________some top secret information. 

5. (Invite)_______________________ to the party, we could hardly refuse to go. 

6. Jim (read)_______________________that novel by Earnest Hemingway three times. 

III. READING (2.5 p) 

Read the passage and choose the best answer to complete the blank. (1.25p) 

The people of Kiribati are afraid that one day in the not-too-distant future, their country will 

disappear... (1)... the face of the earth literally. Several times this year, the Pacific island 

nation has been flooded by a sudden high tide. These tides, which swept across the island 

and destroyed houses, came when there was neither wind... (2)... rain. "This never happened 

before," say the older citizens of Kiribati. 

What is causing these mysterious high tides? The answer may well be global warming. 

When fuels like oil and coal are being burned, pollutants are released; these pollutants... 

(3).... heat in the earth's atmosphere. Warmer temperatures cause water to expand and also 

create more water by melting glaciers and polar ice caps. 

If the trend continues, scientists say, many countries... (4).... Bangladesh, for example, 

might lose one-fifth of its land. The coral island nations of the Pacific, like Kiribati and the 

Marshall Islands, however, would face an even worse fate. They would be swallowed by the 

sea. The loss of these coral islands would be everyone's loss. Coral formations are... (5)... to 

more species than any other place on earth. 



 
1. A. away B. from C. with D. within 

2. A. and B. or C. but D. nor 

3. A. trap B. release C. emit D. give off 

4. A. suffer B. would suffer C. will suffer D. might suffer 

5. A. place B. habitat C. home D. land 

Read the passage and complete the questions and the answers (1.25p) 

Distant education is a rapidly developing approach to instructions throughout the business. 

The approach has been widely used in business, industrial and medical organizations. For 

many years, doctors, veterinarians, pharmacists, engineers and laywers have used it to 

continue their professional education. Recently, academic instructions have been using 

distant education to reach a more diverse and geographically disperse audience not 

accessible through traditional classroom instructions. 

The distinguishing characteristic of distant education is the separation of the instructor and 

students during the learning process. The communication of the subject matter is primarily 

to individuals rather than groups. As a consequence, the course content must be delivered 

by instructional media. 

The media may be primarily printed, as in the case of traditional correspondence course. 

Audiocassettes, videotapes, videodiscs, computer-based instructions and interactive video 

courses can be sent to individual students. In addition, radio, broadcast television, 

telelectures, and teleconferences are utilized for "live" distant education. The latter two 

delivery systems allow for interactive instructions between the instructor and students. 

1. According to the passage, distant education is suitable for........ 



 
A. All kinds of students who need more training to become doctors, veterinarians, 

pharmacists, engineers and laywers. 

B. Students who need instructors 

C. On- the- job people who need to have more training to serve professional education 

D. Every one because it is another form of traditional classroom instructions throughout 

business. 

2. The individuals who take part in distant education are often.................... 

A. Too busy to participate in the evening classes 

B. Unable to access classroom-based education 

C. Able to participate in classroom-based in their free time 

D. Too busy to participate in computered-based education 

3. The course content must be delivered............ 

A. By express mail 

B. By using instructional media 

C. By travelling a long distance of the instructor. 

D. By any means of communication 

4. The word "primarily" in line 7 can be best replaced by________ 

A. mainly 

B. partly 



 
C. noisily 

D. unimportantly 

5. Telelectures and teleconferences allow for..................... 

A. No interactive instruction between the instructor and students 

B. One-way instruction between the instructor and students 

C. Traditional correspondence course delivered by instructional media 

D. Interactive instructions between the instructor and students 

IV. WRITING (2.5p) 

Rewrite the following sentences (1.5p) 

1. The last time we phoned her was when we went to the party together. 

=> We haven't............................................................................................................. 

2. After I had dinner, I took a shower. 

=> Having.............................................................................................................. 

3. He threw rubbish into the forest and he was fined for it. (using perfect gerund) 

=> He was............................................................................................................. 

ĐÁP ÁN 

I. PHONETICS (1 p) 

Choose one word whose underlined part is pronounced differently 



 
1 - B; 2 - C;  

Choose one word whose stress pattern is different from others 

3 - B; 4 - B;  

II. VOCABULARY AND GRAMMAR (4p) 

Choose the best answer to complete the following sentences (1.5p) 

1 - B; 2 - D; 3 - D; 4 - D; 5 - C; 6 - A;  

Give the correct form of the words in the brackets (1p) 

1 - Doctoral; 2 - Irresponsibly; 3 - Diversity; 4 - broaden; 

Give the correct tenses and forms of the verbs in the brackets (1.5pt) 

1 - having been; 2 - having been given; 3 - have you been waiting;  

4 - having revealed; 5 - having been invited; 6 - has read;  

III. READING (2.5 p) 

Read the passage and choose the best answer to complete the blank. (1.25p 

1 - B; 2 - D; 3 - A; 4 - C; 5 - C; 

Read the passage and complete the questions and the answers 

1 - C; 2 - B; 3 - B; 4 - B; 5 - D; 

WRITING (2.5p) 

Each sentence has one mistake. Find and circle it 



 
1 - C; 2 - A; 3 - B; 4 - C; 

Rewrite the following sentences (1.5p) 

1. We haven’t……phoned her since (the last time) we went to the party together… 

2. Having …..had dinner, I took a shower…………………… 

3.  He was …fined for having thrown rubbish into the forest………… 

 


